20000 A 20000 -
0 T
200 '.j'f i ; .
20000 - 25000 -

B

300

T T T T
0 100 200 300 400 500 600

NGRD |
0 0
150000 -
100 100
100000
200
200
50000 §/— 0 100 200 300
—_— |
300 oL— 0.00 0.25 0.50 0.75
1.0 7= 0
400 i
0.8 —
— 100
0 100 200 300 400 500 600 0.6 —
0.44 200
0 24 —— 0 100 200 300
-0.175 -0.150 —0.125 —0.100 -0.075 —-0.050 —0.025 0.000 0.025 i L ee—
0 0 L= 0.0 0.1 0.2
0.0
GLI
0 0
125000
100 100000 - 100
75000
200
200 50000 -
== Gn_pct 0 100 200 300
25000 === Gn_pct
e anbot ]
300 0 —— Gn_pot 0.25 0.50 0.75
-0.02 0.00 (7 g"—’”t
=== (n_pct
1.0 e Gn_pot - 0
400 == (Gn_pct
0. 8 N —c—
— 100
0 100 200 300 400 500 600 0.61 —
0.4 - : 200
024 —_ 0 100 200 300
i #
0.0 0.05 0.10 0.15
0.0 25 50 1.5
bin no
VARI
0
150000
100
100000 -
200
50000 7/ —— 6n pet 0 100 200 300
Gn_pct
o pot ]
ol Gn_pot 0.00 0.25 0.50 0.75
Gnpet _q 4 0.0
Gn_pct
1.0 + Gn_pct 0

0.8 -

SN RN R RN R R RRR

100
0 100 200 300 400 500 600 0.6 1
0.4 200
L e 0 100 200 300
-0.20 -0.15 -0.10 —-0.05 0.00 0.05 #
0.0 - 00 01 02 0.3
0. 2.5 5.0 7.5
bin no
TGI
0 100000 0
80000 -
100 100
60000 -
i 200
200 40000
=== (Gn_pct
20000 - e Gn pot
=== (Gn_pct
300 R =—e— Gn_pct |
=== Gn_pct
=== (Gn_pct
==t Gn_pct - 0
400 === Gn_pct
Gn_pct
=== (Gn_pct
=—e— (Gn_avg 100
==o== Gn_avg
0 100 200 300 400 500 600 —e— Gn_avg
=—o== (n_avg
=== (Gn_avg 200
=—o==(n_avg
=o== Gn_avg
== (Gn_avg 0 100 200 300
-0. 01 0.00 0.01 0.02 0.03 Gn_avg g
== Gn_avg .
0.05 0.10

1.5




